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FIFTH SEMESTER (SCHEME-2012)
MODERN OFFICE MANAGEMENT
INCOME TAX -1

Time : Three Hours Maximum Marks : 70
Note : i) Attempt one question from each unit.
Tl P18 A U 99T BT TR Sl
11) All questions carry equal marks.
Tt 997l & 37 THE 2

iii) In case of any doubt or dispute, the English
version question should be treated as final.

faseft oft PR & g srear R & ARy §
IS 9T & 7 DY AT =T FTRA

UNIT-1/5%1¢ -1
1. What is Income Tax? Define the term Income.

Distinguish between Grass Total Income and Total
Income. 14

TR 1 8 ? 1 Bl IR Hm) Fevet ot 3
TUT P AN H SR FAT
OR/31yar
EYs—
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2. How is residence of assesses determined for income

tax purpose? Explain the incidence of residence on
tax liabilities. 14

FgeR & v el @ FaR-wE 59 9oR
i frar simar & ? Far-wH &1 FReRd ® IR
FHRSU

UNIT - 11/3&7E -

3. Mr X, anemployee ina company in Bhopal (population
exceeds 23 lakhs) is drawing T8000 p.m. as salary plus
dearness allowance @20% of his salary. He is also
getting City compensatory allowance I4000. Medical
Allowance T6000, Bonus ¥16000 and commission
%4000. He is provided with rent free unfurnished house
owned by the employees of the fair rental value of
324000 per annum. He is provided free of charge a
sweeper and a cook whose wages are 300 and
700 p.m. respectively and a gardener whose wages are
3250 p.m. He is also given free electricity for personal
use for which the employer has paid T6000 during the
year to electricity supply Company. Compute his
taxable salary for the assessment year 2016-17. 14
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. X v ot § Hiurer (SHaeEn 25 g | aftew) §
[IRT g, g8 8000 T 9ifle I der da4 &1 20%
Hemd o o1 W@ 2 S} TR 4IRS W 4000 ¥
fafdear 91 6000 %. a9 16000 ®. dem FHteH
4000 ®. t e <@ 21 <9 e & wfie gren
fopRme | e srgafvia aeE oft fien g3 & R
Sfera fawerar gea 24000 3 i g1 S g0 @ wia
T Qe gl et g3 & fieent 9 spaen 300 X e
700 T 1R & e v wrelt off e g & et aa
250 ¥ 71y B1 99 FASht sram & forg fsrelt t qaa
foreft & 2 s ford Rt 3 e o o farveit ot ot
6000 T &1 Y fpar g1 S ax Faio oy
2016-17 & fow argg da= &t 7o HifmI

OR/3rar

. Write notes on: 14

a) House Rent Allowance

b) Value of house provided at concessional rent
fecouft ferRay -

) TpH fapma W

) R fR R fret g1 7F @ 57
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UNIT - I/ 3&% - I

5. M. Suresh is getting a pension of ¥12,000 per month

from a company. During the previous year he got his
two-third pension commuted and received X7,38,000
compute the exempted amount if: 14

a) Healsoreceived gratuity
b) Hedid notreceived gratuity

iy, TR T R ¥ 12,000 X 71D G WIH R @
{1 af F ow et Q- dem aw ot ol
7,38,000% v g1 R -wara 1% & Torn Hifdg afe-

) I deggct oft wm & 2
q) I It e T AR

OR/31(d]

. Givennotes: 14

a) Gratuity
b) Earned leave salary

feoeft farfam .

%) et
3) affa ey aa=

64%
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UNIT- IV /) z37E - IV

7. Define 'Annual value' and state the deductions that

are allowed from the annual value in computing the
income from house property. 14

‘qif¥es qog' Y aRHT T T B HART Y 3
frafa o & forg aiffe gea 9 | oer8 SM arett
it Feifaal @1 aufs Hifg|
OR/3a

. Mr. X' owns a big house the construction of which
was completed in May 2010. 50% of the floor area
is let out for residential purposes on a monthly rent
of ¥3,200. However, this portion remained vacant for
one month during 2015-16. 25% of the floor area is
used by the owner for the purpose of his profession,

while remaining 25% of the floor area is utilized for
the purpose of his residence other particulars of the

house are as follows: 14

4
i) Municipal valuation 75,000
ii) Standard rent 90,000
iii)  Municipal Tax 12,000
iv) Repairs 3,000

v) Interest on capital barrowed for repairs  28.000
Compute the taxable income under the head house
property of Mr. 'X' for the assessment year 2016-17.

(6)

X & 98 9o o1 Tt R Rrger Pmfor orf 78
2010 Y1 31T AT| HebH &5 &3t BT 50% HFT 3,200%
ifep foARIY WR % o forg < & mam 81 2015-16 9 a8
U U HIg & o0 @t Ul Y@1l 90 P S5%el Pl
25% AT Hep & Tt gRT 39+ UeY <5 forw ovT 81 <&
2 AT &% BT A 25% MR ST 39 g & fore
TN B %@ 81 Ao & Ty F 3= frawor e uaR 2-

3
i) TR uriees! Hedid 75,000
i) HHS fRmn 90,000
i) R Tt @R 12,000
_ iv) 389 3,000
V) AG & T T @R W) e 28.000

R-fufker af 2016-17 & o & 'X' & 5o Fufy
ofifes & siepfa ax-arg 6t TomET HifTe)

UNIT-V/33TE - V

. Explain clearly the deductions that are expressly

allowed in computing the income from business
under the Indian Income Tax Act, 1961. 14

AR I 31 6t TAT e o 3777 e AR 1961
&b 3t T wipa aﬁ‘c’t’l?l?j_ T IHHTZYI
OR/3RIAT
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10. What are the provisions of these expenses undes the
head of business or professions. 4

a) Deductions of expenditure on scientific research

b) Deductions of preliminary expenses

R | 31 T AT B T 37 ) F g9y § F41
&g g

31) IS SHYM W dl & ey § wrdt
9) WRMS @ R Fekl & G99 J
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